

$$\underline{u} = (\gamma_u u_x, \gamma_u u_y, \gamma_u u_z, \gamma_u ic)$$

$$\underline{p} = \left(\frac{m_0 \gamma_u u_x}{p_x}, \frac{m_0 \gamma_u u_y}{p_y}, \frac{m_0 \gamma_u u_z}{A_4}, \frac{m_0 \gamma_u ic}{p_z} \right)$$



$$\begin{aligned}
 A_4 &= \sum \gamma_u i c \\
 &= \sum \frac{i c^2}{c} \\
 &= i \sum \frac{c^2}{c} \\
 &= i \sum c
 \end{aligned}$$

$$E = \gamma_u m_0 c^2$$

$$E_2 = \gamma_u m_0 c^2$$

$$E_1 = m_0 c^2$$

$$K = E_2 - E_1 = (\gamma_u - 1) m_0 c^2$$

$$= m c^2 - m_0 c^2$$

$$\tilde{p} \cdot \tilde{p}$$

$$p_x, p_y, p_z, i \frac{E}{c}$$

$$p_x, p_y, p_z, \frac{iE}{c}$$

$$p^2 - \frac{E^2}{c^2} = -m_0^2 c^2$$

$$p^2 c^2 - E^2 = -m_0^2 c^4$$

$$\underline{E^2 = p^2 c^2 + m_0^2 c^4}$$